



KALYAN ACADEMY

BHARATH NAGAR, HYD-18
PROGRESSIONS WORK SHEET  (Value based problems –A.P)
1. Nidhi saves Rs. 2 on first day of the month, Rs. 4 on second day, Rs. 6 on third day and so on. What will be her saving in the month of Feb. 2012? What value is depicted by Nidhi?

2. How many two digit numbers are there in between 6 and 102 which are divisible by 6. Ram calculated it by using    A.P. while Shyam calculated it directly. Which value is depicted by Ram? 
3. Rs. 9000 were divided equally among a certain number of students. Amith was given the responsibility of dividing this amount among the students but 20 more students admitted to the school. Now each student got Rs. 160 less. Find the original number of students? What value of Amith is depicted in the question?    
4. Ramkrishna saved Rs 5 in the first week of a year and then increased her weekly saving by Rs1.75.If in the n th week, her week, her weekly savings become Rs 20.75, find n?
5. A contract on construction job specifies a penalty for delay of completion beyond a certain date as follows; Rs 200 for the first day, Rs 250 for the second day, Rs 300 for the third day, etc ., the penalty for each succeeding day being Rs 50 more than for the preceding day. How much money the contractor has to pay as penalty, if he has delayed the work by 30 days.
6. A person donates money to a trust working on children and women in some villages. If person donates Rs.5000in the first year and increased by Rs.250 every year. Find the amount donated in 8th year and the total donated in 8 years?
7. A triangular garden has 22 plants in the first row. Each succeeding row has 10 more plants than the one before it. How many plants are there if the garden consists of 8 rows?
8. A man repays a loan of Rs3250 by paying Rs20 in the first month and then increase the payment by Rs15 every month .How long will it take him to clear the loan ?
9. A man arranges to pay a debt of Rs.3600 in 40 monthly installments which are in a AP. When 30 installments are paid he dies leaving one third of the debt unpaid. Find the value of the first installment.

10. Raghava buys a shop for Rs.1,20,000. He pays half the balance of the amount in cash and agrees to pay the balance in 12 annual installments of Rs.5000 each. If the rate of interest is 12% and he pays with the installment the interest due for the unpaid amount. Find the total cost of the shop.
11. Kruthi starts a game and scores 20 points in the first attempt and she increases the points by 40 in each attempt. How many points will she score in the 30th attempt?
12. Pujitha and Aishwrya live in two different villages 165 km apart. They want to meet each other but there is no fast means of transport. Pujitha travels 15km the first day, 14 km the second day, 13 km the third day and so on. Aishwarya travels 10 km the first day, 12 km the second dry, 14 km the third day and so on. After how many days will they met.
13. A sum of Rs.3150 is to be used to give six cash prizes to students of a school for overall academic performance, punctuality, cleanliness and creativity. If each prize is Rs.50 less than its preceding prize. Find the value of each the prizes? 

